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[ ] Resuscitate/CPR ] Do Not Attempt Resuscitation (DNR/no CPR)
When not in cardiopulmonary arrest, follow orders in B, C and D.

i

MEeDICAL INTERVENTIONS: Person has pulse and/or is breathing,

[ ] Comfort Measures Only Use medication by any route, positioning, wound care and other
measures to relieve pain and suffering. Use oxygen, suction and manual treatment of airway
obstruction as needed for comfort. Do not transfer to hospital for life-sustaining treatment.
Transfer if comfort needs cannot be met in current location.

D Limited Additional Interventions Includes care described above. Use medical treatment, IV fluids
and cardiac monitor as indicated. Do not use intubation, advanced airway interventions, or mechanical
ventilation. Transfer to hospital if indicated. Avoid intensive care.

[ ] Full Treatment Includes care described above. Use intubation, advanced airway interventions,
mechanical ventilation, and cardioversion as indicated. Transferto hospital ifindicated. Inciudes intensive care.

Additional Orders:

T3

ANTIBIOTICS

[ ] No antibiotics. Use other measures to relieve symptoms.

D Determine use or limitation of antibiotics when infection occurs.
[ ] Use antibiotics if life can be prolonged.

Additional Orders:

JI=

ARTIFICIALLY ADMINISTERED NUTRITION:  Always offer food by mouth if feasible.

E] No artificial nutrition by tube.

Defined trial period of artificial nutrition by tube.
|| Long-term artificial nutrition by tube.

Additional Orders:

SummARrY oF MEeDpIcAL CONDITION AND SIGNATURES

Discussed with: Summary of Medical Condition

D Patient

D Parent of Minor

[ ] Health Care Representative
Court-Appointed Guardian
Other:

Print Physician/ Nurse Practitioner Name IMD/DONP Phone Nummber | Office Use Only

Physician/ NP Signature (mandatory) Date

SEND FORM WITH PERSON WHENEVER TRANSFERRED OR DISCHARGED
© CENTER FOR ETHICS IN HEALTH CARE, Oregon Health & Science University, 3181 Sam Jackson Park Rd, UHN-86, Portland, OR 97239-3098 (503) 494-3965
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